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(f*go)w =

x=vV1-22cosf, y=v1—2%sin0, z=2,0 € (0,2n),z € (—1,1).
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(iii) #fE R BEkE S™. W (2f, ..., 2" t) & RH AR, 1R
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2. Wo: M — NNEEESRE M M N B— SRR v
la,b] = M Ny M " )— 564 IEW] Length,,(v) = Length (7).



3. WK RNR* M. {9} & K b n? MESREMERMER
z € K, JFF [g;;(x)] X,

(1) W M), A(z) 53 RRRFE [g:;(x)] BB, BORRFIEE. IEA A A
BN K EWES AL

(ii) ¥ K NEHW, FHHEMMEE 2 € K, HFF [9:,(z)] ZIEER. W
FAEIEH €1, 60, WHMER 2 € K, AEE (v1,...,0")=veR", H

61|v|2 < Zgij(:c)vivj < 62|’U|2.
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4. FpE RS PERIE S2. MM 1.G1) HERINESE R,
(i) 145 S% ERIFEMKE.

(i) X K, = {(2,0) ta <z <b}, —1 <a<b<1, AL
(it) AMEEEEAEY X = X2 + X* 2, 5 div(X).

(iv) XMERICHI R f = f(2,0), SHi gradf A1 Af.



